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Please make sure that the printed pages in this
question paper are 16 in number and it contains
20 questions.
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The Code No. and Set on the right side of the

question paper should be written by the candidate
on the front page of the answer-book.
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Before beginning to answer a question, its Serial
Number must be written.
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Don’t leave blank page/pages in your answer-book.
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o FUT-gRGE % Slandd #E o4 de TE el o
STTFATEr & fig@ it frar v 7 #e)
Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written answer.

o el STl AT To FIT-TH YT a9 [rg)
Candidates must write their Roll Number on the
question paper.

» U g5 1 FV &7 & {4 I8 GrRET T T B 997-97
g7 a @& & YO % Iy 59 a9 § #HE A @
@B TE AT A3

Before answering the question, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.

A 3T -
(i) 37 F97-97 7 20 §97 & 7 fF G vl - & §
golcgdae me:
G 9 37 @ F g J97 & o 16 (i-xvi) I
7 & frd 6 WM Sgfaseeid 2l J9%
97T 1 37F H 8
g% 9 : 57 % 42 11 7% Z7 &7 597
&1 T9F F97 2 ofH T &
g% q: 3987 §12 § 16 7% 77 9T 5T
81 J9% F9T 4 SH FT &
&% T 59 g€ 717 G20 7% FA AW 5T
&1 g% 797 6 STE # 8l
(ii) TH F97 ST &1
(i) @8 T % & go7] § Sak# fwey [ 7 8
G74 & qF & J97 F FT &1
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(iv) 77 7 I 997 I 7T+ FITGawr & ar Haeq
T &1

(v) % 99T GT T FC-GIeaHl H BHE T [
(vi) HEFACT  FIT B AT TE 81

General Instructions :

(i) This question paper consists of 20 questions
which are divided into four Sections : A, B,
Cand D :

Section ‘A’ : This Section consists of one
question which is divided into
16 (i-xvi) parts of which 6 parts
of multiple choice type. Each
part carries 1 mark.

Section B': This Section consists of ten
questions from 2 to 11. Each
question carries 2 marks.

Section 'C': This Section consists of five
questions from 12 to 16. Each
question carries 4 marks.

Section 'D': This Section consists of four
questions from 17 to 20. Each
question carries 6 marks.

(ii) All questions are compulsory.

(iii) Section 'D' contains some questions where
internal choice have been provided. Choose
one of them.

(iv) You must attach the given graph-paper along
with your answer-book.

(v) You must write your Answer-book Serial No.
on the graph-paper.

(vi) Use of Calculator is not permitted.
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gue - 3
SECTION - A

1
1. (i) fog ST HINMT AR” f(x)=8x> A g(x)=x3.1
1
Find fog if f(x):8x3 and g(x)= x3.

(i) tan'(-3) @ AT : 1
T T
(A) 3 (B) s
© -3 (D) FE & & T

The value of tan_l(— J3 ) is :

T T
(A) 3 (B) "6
(@) —g (D) None of these

(i) T U 2 x 2 AHE & AT Hiow, o Iaad

;= BN % B 1
j

Construct a 2 x 2 matrix whose elements

. i
are given by a; =—.
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(iv) ‘2 4‘= 2X 43 R e A D 1
6 x
(A) ++3 B) +6
(C) =45 (D) ¥ q #ig &
, ‘2 4‘ 2x 4
The value of x for which =
1 6 x
is :
(a) +43 B) +6
(@) +4/5 (D) None of these

(v) x% 99 sin(ax +b) F TR G HioQ 1

Differentiate sin(ax+b) w. r. t. x.

(vi) I0 & &8F%d & URadd H &< 3E Bl o &
Qe S"ih r=5cm, B : 1

(A) Sm cmz/sec (B) 15m cm? /sec

(C) 10m cmz/sec (D) ?ﬁ"?{ q ﬁ?? Tt
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The rate of change of the area of a circle
with respect to its radius r when r = 5 cm
is

(A) Sm cmz/sec (B) 15m cm? /sec

(C) 10m cm? /sec (D) None of these
(Vi) x=2 Wah y=x>—x+1 & WG & FForar

EIREEIE L 1
Find the slope of tangent to the curve
y:xs—x+1 at x = 2.
(viii) A 3T IR : 1
2
[logx)” 4
x
Evaluate :
2
[logx)” 5
x
T
(i) [x'°.sin x dx %1 7 ¥ : 1
-7
A) w (B) -m
< 1 D) O

T
The value of leo.sin7 x dx is:

A) = (B) —=
(C) 1 (D) O
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3
(x) %MQ. [%yj =0, T THIHLOT Bl Bife

2 1
(A) 2 B) 3
© 1 (D) T8 q Hig 7l

The order of the differential equation

3
3 2
M+x2. [MJ =0, is:

dx® dx?
(A) 2 (B) 3
) 1 (D) None of these

. ds\? d?s
(xi) (—j +3s—— =0, IEHAT HHIHT HI W

dt dt
2 1
(A) 4 B) 2
(C) 1 (D) FH & &5 Tl

The degree of the differential equation

4 2
(dsj +3sE =0, is:

dt dt?
(A) 4 (B) 2
) 1 (D) None of these
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(xii) 3 P(A) = 0.8, P(B) = 0.5 X P(B/A) = 0.4,
@ P(AN B) 3T i 1

If P(A) = 0.8, P(B) = 0.5 and PB/A) = 0.4,
then find P(An B).

(xiii) I P(A) = 0.3, P(B) = 0.6 @41 A 3 B @a=

geqld ¥, @ P(A W B) & A ST HioT) 1

If P(A) = 0.3, P(B) = 0.6 and A and B are
independent events, then find the value of

P(A or B).

(xiv) Th 3 ¥ 4 9%% AR 6 FOl 8 8 & T e
3 A aghes e ™o @ T oaes &R
T% & Bl B @l TRl $d i 1

A bag contains 4 white and 6 black balls.
Two balls are drawn at random with
replacement. Find the probability that one

ball is white and one ball is black.
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(xv) d=20+3j+k ARY & TR TF AN I
HifoTy 1
Find a unit vector in the direction of a
vector a =2{ +3j+k .

(xvi) x-3T8, y-oT8 olR z-o18 & Rep-Hroan A HifoTI 1

Find the direction cosines of x-axis, y-axis,

and z-axis.

gus - §
SECTION - B

2. T Wie 6 N & feenard |fhar =, ax b=a T b
N L.C.M. R URHINT Bl 16 * 24 d P 2

Let * be the binary operation on N given by a * b =
L. C. M. of aand b. Find 16 * 24.

3. tan_l(tan7—6nj H AN T BT 2

Find the value of tan_l(tan 7_6nj
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2 4 -2 5
4. T A= , B= 4,3A—B3b'[‘=|'|7'f§|'lﬁ

3 2 3
i) 2
o 4 )
LetA=2 , B= 2 S,ﬁndSA—B.
3 2 3 4
(4 1
5. 3% A= 5 2} @ TR |3A| =9|A]. 2

4 1
IfAz[3 2} then show that |3A| =9|A].

G.ny+y2=tanx+y@%§lﬁzﬁml 2

Find il—‘li from the equation xy + y* = tan x + y.
7.qﬁx=sint,y=0032t,ﬁ%§lﬁqaﬁﬂ'{l 2
. dy
If x=sin t, y = cos 2¢t, then find —.
dx
8. HM A i : 2
ij.exdx
Evaluate :
sz.exdx
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9. AN 3d HifoT : 2
jn/4tanxdx
0
Evaluate :
In/4tanxdx
0
10. a T b & foga &0 g @ y=e**. (a+bx) &

11.

12,

IRESI GG o e S R e o e e e X B e L 2

Find the differential equation corresponding to
y = e**. (a+ bx), by eliminating a and b.

T I REd @ 10 I IBR1 ™ 21 w8 R
AN & T Jiiear S i 2

A fair coin is tossed 10 times. Find the probability
of at most 6 heads.

qis - 9

SECTION-C

A T 4

1 cos x —sinx
tan | ———
cos x +sinx

Simplify :

1 cos x —sinx
tan | ———
cos x +sinx
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15.
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k &1 A §d I dif &

kx+1, 3 x<5

, x=5 WHIG 21 4
3x-5, Id& x>5

f(X)={

Find the value of k, so that the function :

kx+1, if x<5

f(x):{s)c—s, if x>5

is continuous at x=5.

I S i R %

flx)=4x>-6x*>-72x+30 § W& Bad f M=

g B 4

Find the intervals in which the function

f(x)= 4x3 —6x% —72x +30 is strictly increasing.

eGP 1< G M <1 | e O o ) B £ ) M 2 o |
ST it 4

Find the probability distribution of the number

of heads in two tosses of a coin.
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16. TR IS H SFGA G FIOT e o o

a=i-j+3k M b=20-7j+k TMA B & 4
Find the area of a parallelogram whose adjacent
sidesare d=i-j+3k and b=2{ -7 +k.
qus - g
SECTION -D
17. = THIHTON &1 e fafy 3R & &I ¢ 6
x-y+2z=7,
3x+4y—-5z=-5,
2x-y+ 3z=12.
Solve the following equations by matrix method :
xX-y+2z=7,
3x+4y—-5z=-5,

2x-y+3z=12.
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18. ﬁﬁqa%2+%j:1%ﬁ%%aw%maﬁﬁﬁﬂ| 6

2 2

Find the area enclosed by the ellipse x? +Y¥ -

3TeE

OR
AN ST BT :

xsinx

&

1+cos“x
Evaluate :

xsinx

2

———— dx
1+cos“x

O +—3

7 -6 171 -2
ST bl gAaH g S i

19, X*+1_y+1_z+1 x—3=y—5=z17 Yarait

Find the shortest distance between the lines :

x+1_y+1_z+1 x=3 _y-5_2z-7

7 -6 171 -2 1
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YqT
OR

A H GHHCT @ i, S feegett (0, 1, 1),
(1, 1, 2) X (-1, 2, -2) § oA &I 6

Find the equation of plane passing through the

points (0, 1, 1), (1, 1, 2) and (-1, 2, -2).

20. @ FR = s NI G960 & B HioC ¢ 6
AR : Z = 200x + 500y
el & I
x+2y=>10,
3x +4y< 24,

x20,y=0.

4331/(Set : C) P.T.O.



(16) 4331/(Set : C)

Solve the following linear programming problem

by graphical method :
Minimize : Z= 200x + 500y

subject to the constraints :
x+2y =10,
3x +4y< 24,

x20,y=0.

4331/(Set : C)



